30
50

SOHz __
General Catalogue
20

g0

(= =r
20

50x32

Flow/ Caudsl Q{US.GPM)»

AL
ACISOAF
=
—
Flow/ Cavdal G{mTh} »
65x40

Flows/ Caodal Q(US.GPM)»
15
Flow/ Caudal Q{m7h) »

42

10

% 5 75 Q0 15 130
20

0

NN =

m— W n N w LX B X R-1 7‘51!!100 W - wn S @wTAND tm“m Llﬂ.w

4 (W) moyy  pasy

(w)HsdN

(ma)d A (W)H ey / peaH {wiHsdN (mn)d

36

150
i

1
ACA00AF
ACI00AF
=
‘
|
‘
{ Bl
=
an

20

L]

Fow/ Caudaf Q(mYh) »

65x40

Flow/ Caudal Q{US.GPM)»
g0

e .,

i

24

100

E]

R 8 R 9 2 wevno NEayanga

4 (w)H minyy / pwy (w)HSdN (andd

50x32

Flow/ Caudal Q(US.EPM) >

Flow/ Caudal Q{US.GFM) )
L
16
Flow/ Caudal Q(m¥h) »
iB
Flow/ Caudal Q{m7h) »
50%x32

10
12

& o

o 1

11
1.5

» 8 R 8 B § R "ev¥Ns
4 {w)H wmyyyy / pasH (WHSAN {ald 4 (w)n 2y / peH (uHgdN [

T4

Performance Curve
30
25
20
15
10

a3
B
4
2
o
s
.5
2
1.5
1
0.5
4]



S50Hz__

General Catalogue

e

Head / Altwra H{m) p

NPSH{m)

P(KW)

Head / Aftwrs H{m) b

NPSH{m)

P(IW)

Flow/ Coudal Q{US.@FM) >

Mow/ Coudal Q(US.GPHM)»
o 25 50 75 190 135 150 175 a0 e g e oo
- £
AD — CIE04 T
30| i §"
| ACTSOCF
20 1 AC *5!6(
I
T
10 o S==c
b4 E 3 =
B 4
2 E . =
° —— T T 7 —
? o | . = ‘ =
5 = == ACSEDAF g3 AC550CF
4 3
1 2
2 1
Uu 10 20 30 a0 50 o 20 40 [.1+] a0 100
Flow/ Coudsi Q(mYh) » 000 row/cCawdalQ(m¥h) y 0
65x40 65x50
Flaw/ Cacdal Q(US.QPM) b Plow/ Caudal Q{US.GPM)»
O 50 100 150 200 250 300 350 4ago o 50 100 150 700 230 300 330 400
e s 3 I
— T o
15| = [ /

%

Head / Alturs H{m) »
~
e
L
/ /

)\)\‘
ACIDOCF et
5| an i | p—
5 AC220CF 2
1 . 11

o T T 1 1 1T

5 e = =

& E q =

a = E 4

, e g 2 -

% i =
e ACADDCF : ACTS00CE

3 11 -
23 = AC300CE g,, ocF |
18 — =
= Qa 2 20ce
s == 5| =

—— s . :
o 0 a0 & 50 100 o 20 a0 50 %0 100
Flow/ Caudal Q{m¥h} » Flow/ Ceudsd Q{m’fh) b

65x40 65x50

o _100 1 250 300 350 apo
e

R
T

Huoad / Altura H{m) »
e
Vi
il

o
g —
E .
e 3 :
s 2 o
H
vl T T T T T
23 T T — ACZ200CE
18 T S : ;
E‘ 15
T s :
5 T
2 T
‘o 20 40 &0 80 100
Flow/ Caudad Q{m"/h) »

65x50



150

S20DF

1

AeT100DF.
F o

S0Hz__
General Catalogue

120

Py

Mo _, 5 . S0 .

—

20 4pd 500 . &0

80x65

Flow/ Caudsl Q(m’/h) »
Fow/ Caudpl Q{US.GPM] p

Flow/ Caudel Q{US.GPH) P+

100 , 200
19 . 290

)

4 (w)H sy 7 pesH

ACT50DF |

_ACz000F |

€3500F
120

5
P ac18500F

408DF

. s, s

4g0 , Sgo L .

]

T

80x65

60

Plow/ Caudel G{mYh) »
Fow/ Cauds! G{US.GPHM]M

Fow/ Caudsal QUE.GPM) b

oz

g0

1]

25

4 (W) sy / paey

[
E

4 (w)H =y [ pesy

Performance Curve

44

ACZ2000F
120

»

m’fh
80x65

Caudal

0BF

50BF

C?

Flow/ Caudsi Q{m7¥h) »

100x80

Flow/ Coudal Q(US.GPFM) b

C15 ﬁ:n

o
N DEtND ROBEANAD

Flow/ Caudal Q(m*/h) b

80x65




180

125x100

120

Flow/ Caudal Q(US.GPM)p

Flow/ Caudal Q(m’/h) »

m*/h) »

150

125x100

100

Flow/ Caudal Q(US.GPM)»

Flow/ Caudal

7 Z
: T , I
ﬁ |/ A
/ LT o[
Nix : | . £ / g
10l & @ &=
| X
g 1s i
¥ ! 171, | ;
| _ _
it
& ’
8-
- T & § = R sowno MBEERGNe" ° 2 T 8 R Soovno ggpugRgw
4 (w)H sunyy J peay {(w)HSdIN (md)d 4 {W)H sunyy / proy {w)HSdN {aidd
2
8 m : " W T w L \W-\- T
" ] , ,q:w e Bl 1 .,\,m ,?m ke
m 7 IS i B8 m y | [T
mﬂ ‘mu i [ m. m; mH ., 8/ T
§TTTT R R iy 8| f il
d IR PE e B i
o MU E e
! ——Lf 11 g3 - & ] i
of N A
T 2| T
il i
y ) 8
i
8l &
ol --%--mr-u K & B =ovee qsmumencs B = e N NEANGT
< {W)H 2iryY / PROH (w)HS4N a2 4 (W)H &y / peeH {w)HSIN _ (mw)d

Performance Curve

ADEUIN | SOHz_—

45



o 1257 cne
point

o el m |
AC150F 15 2 15 18 50x32
AC220F 22 3 15 25 50x32
AC300F 3 4 15 32 50x32
AC300FN 3 4 13 30 50x32
AC400F 4 55 15 38 50x32
ACS550F 55 75 15 50 50x32
AC750F 75 10 15 62 50%32
AC150AF 15 2 20 15 65x40
AC220AF 22 3 20 20 65x40
AC300DAF 25 24 65x40
ACA0DAF 4 55 25 32 65x40
ACS550AF 55 75 25 38 65x40
AC750AF s 10 25 48 65x40
AC220CF 22 3 50 12 65%50
AC300CF 4 55 15 65x50
AC400CF 4 55 60 18 65x50
ACS50CF 55 75 50 27 65x50
AC750CF 75 10 60 28 65x50
AC920CF 82 125 48 43 65x50
AC1100CF 1 15 860 45 65x50
AC1500CF 15 20 65 50 65x50
ACT500CFN 15 20 50 60 65%50
AC1850CF 185 25 55 70 65x50
AC2200CF 2 30 60 75 65%50
AC400DF 4 55 62 16 B80x65
ACS550DF 55 75 74 19 80x65
AC750DF 75 10 B5 20 80x65
AC920DF 92 125 72 30 80x65
AC1100DF M 15 74 33 80x65
AC1500DF 15 20 B85 3B 80x65
ACIS00DFN 15 20 62 44 80x65
ACIB50DF 185 25 74 50 80x65
AC2200DF 2 30 B85 54 80x65
AC2200DFN 22 30 B84 60 B80x65
AC750BF 75 10 85 18 100x80

=

point

o v o m |
AC1100BF 11 15 130 22.5 100%80
AC1500BF 15 20 145 27 100x80
AC1850BF 185 25 160 31 100x80
AC2200BF 22 30 160 35 100x80
AC2200BF 22 30 130 42 100xB0D
AC1500EF 15 20 180 24.5 125<100
AC1850EF 185 25 180 29 125100
AC2200EF 22 30 180 315 12500
AC2200EFN 22 30 150 32 125<I100

(m)

H
{m}

36
42
52
17
20
24
32

50.5
57.5
62
68.5
79
89.5
19

328
39
a4
a8
35

38.5
43

38.5

20 18 16,5
275 25 19
345 32 27
38 29 20
45 38 35
56 50 43
67 62 54
17 165 16 14
22 215 21 16
27 265 26 25 195
36 35 325 30
42 41 385 36 24
52 52 49 48 46 40
154 14 12.8
18.8 18 17
231 23 215
306 30 28
38 36 34
46.8 45 43
53.5 52 50
58 56.5 54.5
64 63 615
75.8 748 74
86 853 &4
17.3
21.3
26
25

326 325 30 27 221
385 38 35 336 288
435 43 417 38,6 33.8
477 475 43.5 39.2 325
33.5 32.5 30 278 245
375 36.5 34.3 32.2 29
41 40 376 35.2 315
36.7 357 33.8 317 285

18.5
25.3
30.2
27.2
21.5
25.7
28.5
26.8

183 15
22 18

253 22
25 22.9

11.5
15.6
20.3
26.6
30
40.8
47.5
52
59
71.5
81.5
16.8
20.9
25
31.5
34.5

45,5
52.3

16.2

SOHz_( AppLND

6.5
11
15.8
20.5
26
325
40
44.5
50
63.5
73.5
14.5

11.8
14.8
21
26.7

13

29

35.5

47

57

11.8

16.7 13.7

19 18 16

271 24 215
308 28 255
378 35 33 295
40.2 365 34

48.2 445 42

55 52 495 445
585 53 50
16.5 105

46



ADELIND' | SOHz_—

Components & Materials

900-2 550 3 433
[900-3
411-1 — f
=M
=t
\ L 1]
507
900-1 594
055 |550-1 592
= Isspg 122
Pump body 550-4 Wave spring Wiring terminal

230 Pump cover 550-5 Circlip for shaft 900-1 Hexagon head bolt

321 Impeller (1) 592 Foot 900-2 Vent cock
411-1 Impeller (1) 594 Connector 900-3 Flat washer
411-2 Deep groove ball bearing 596 Cable lock 900-4 Cross recessed pan head screw
411-3 Seal (flat) 723 Flange 940 Ordinary flat key

412 Rubber gasket 813 Stator 955 Dust cover

421 Rubber gasket 818 Rotor 970 Nameplate

433 Machinery Seal 822 Rear end cover

507 Water retaining ring 831 Fan
550-1 Spring washer 832 Fan cover
550-2 Type | hexagon nut 833-1 Junction box cover
550-3 Type | hexagon nut 833-2 Junction box

47



SOHz_ apeLN

Components & Materials
410 833

900-1 412 4211 596 595 900-3 951 421-2 505-2

+

900-2 101 230 433 594 507 321 821 505-1 813 562 553 831 832
mlomm L] o el e o T e

101 Pump body 421-1 Framework oil seal Washer 596 Cable lock head Junction box

230 Impeller 421-2 Framework oil seal 553 End cap 813 Stator 951 Wave spring

321 Bearing 433 Mechanical seal 562 Footing 821 Rotor 900-1 Vent cock

410 Rubber blanket 505-1 Check ring 594 Coupling 831 Fan 900-2 Vent cock

412 0-ring 505-2 Check ring 595 Terminal 832 Fan housing 900-3 Lifting bolt
End-cover bearing 6204-2RS/C322 6204-2R5/C322 6205-2R5/C372 6206-2R5/C3Z2  6206-2RS/C3Z2  6208-2RS/C3Z2
Coupling bearing 6205-2RS/C322 6205-2RS/C3Z2 6205-2RS/C3Z2 6206-2RS/C3Z2 6206-2RS/C322 6208-2RS/C3Z2

Motor Shaft Steel 45#+304

- : - ) 701-28/32 S:K(P)
701-20/29 S:K(P)Stationary seal ring @35 L S‘K(Pﬁ:gt'onary a=aliig Stationary seal

Mechanical Seal ring @40

A:Graphite B:Alumina ceramic $:RBSC P:NBR

Motor Case Aluminum
Coupling Cast Iron
Pump body Cast Iron
Impeller Castlron
Pump Cover Cast Iron

48



ADELIND ) SOHz__

Dimensions & Weight
A

® o
DN1 [ i
B C

AC150F 411 190 132

AC220F 50 32 so 70 210 445 190 240 14 132 292
AC300F 50 32 80 70 226 451 190 240 14 132 292
AC300FN 50 32 80 70 228 453 190 240 14 160 340
AC400F 50 32 80 70 219 480 190 240 14 160 340
ACS50F 50 32 80 70 229 500 190 240 14 160 340
AC750F 50 32 80 70 246 550 190 240 14 160 340
AC150AF 65 40 80 70 202 411 160 210 14 112 252
AC220AF 65 40 80 70 210 444.5 160 210 14 112 252
AC300AF 65 40 80 70 231 456 175 210 14 126 286
ACAQOAF 65 40 80 70 221 481.5 175 210 14 126 286
AC550AF 65 40 100 70 226 517 215 265 14 260 340
ACT750AF 65 40 100 70 243 567 215 265 14 260 340
AC220CF 65 50 93.5 60 241 471 168 232 14 132 305
AC300CF 65 50 93.5 60 257 477 168 232 14 132 305
ACA00CF 65 50 93.5 60 250 505 168 232 14 132 305
AC550CF 65 50 100 70 221 510 215 273 14 160 349
AC750CF 65 50 100 70 240 564 215 273 14 160 349
AC920CF 65 50 100 95 2675 585 250 320 14 180 385
AC1100CF 65 50 100 95 305.5 623 250 320 14 180 385
AC1500CF 65 50 100 95 307.5 660 250 320 14 180 385
AC1500CFN 65 50 100 95 307.5 660 250 320 14 180 410
AC1850CF 65 50 100 95 307.5 660 250 320 14 180 410
AC2200CF 65 50 100 95 351.5 704 250 320 14 180 410
AC400DF 65 50 108 95 214.5 515 210 280 14 160 349
AC550DF 65 50 108 95 222.5 536 210 280 14 160 349
AC750DF 80 65 110 95 2375 584 210 280 14 160 349
AC920DF BO 65 108 95 2825 608 215 280 14 180 370
AC1100DF 80 65 108 95 320.5 646 215 280 14 180 370
AC1500DF 80 65 108 95 322.5 683 215 316 14 180 350
AC1500DFN BO 65 108 95 328.5 689 250 320 14 180 423
AC1850DF 80 65 108 95 328.5 689 250 320 14 180 423
AC2200DF 80 65 108 95 3725 733 250 320 14 180 423
AC2200DFN BO 65 110 95 375.5 738 250 320 14 180 415
AC750BF 100 80 100 70 248 572 215 265 14 160 340
AC1100BF 100 B0 125 95 320.5 663 250 326 14 180 420
AC1500BF 100 80 125 95 3225 700 250 326 14 180 420
AC1850BF 100 80 125 95 322.5 700 250 326 14 180 420
AC2200BF 100 B0 125 95 366.5 744 250 326 14 180 420
AC2200BF 100 80 125 95 361.5 739 250 320 14 180 400
AC1500EF 125 100 125 95 323.5 701 250 336 14 180 433
AC1850EF 125 100 125 95 323.5 701 250 336 14 180 433
AC2200EF 125 100 125 95 367.5 745 250 336 14 180 433
AC2200EFN 125 100 125 95 367.5 745 250 336 14 180 433

49



Packing Size & Weight
T T T
32 35

AC150F 490x285x355
AC220F 37 40 520x385x355

AC300F 40 43 565x275x390

AC300FN 43 47 560x325x440

ACA00F 52 57 590x325x440

ACS50F 63.5 68.5 610x325x440

AC750F 74 79 660x325x440

AC150AF 31 34 490x255x315

AC220AF 37 40 520x255x315

AC300AF 43 48 565x275x390

ACADOAF 51 56 590x275x390

AC550AF 61 66 630x300x440

AC750AF 735 83.5 680x300x440

AC220CF 40 43 590x275x390

AC300CF 44 48 590x275x390

ACAOOCF 48 53 610x325x440

AC550CF 59 64 630x320x505

AC750CF 82 90 680x320x505

AC920CF 90 98 685x320x505

AC1100CF 98 110 740x360x540 —1 =l
AC1500CF 124 136 740x360x540 1 =l -
AC1500CFN 128 140 740x360x540 | 1
AC1850CF 141 153 740x360x540 :; s 2
AC2200CF 155 167 815x370x525 —F .
AC400DF 59 64 630x320x505 .j w
AC550DF 65 70 630x320x505

AC750DF 88 96 685x320x505

AC920DF 93 105 685x320x505

AC1100DF 102 114 740x360x540

AC1500DF 129 141 740x360x540

AC1500DFN 128 140 815x370x525

AC1850DF 142 154 815x370x525

AC2200DF 155 167 815x370x525

AC2200DFN 158 170 815x370x525

AC750BF 75.5 84.5 700x300x450

AC1100BF 107 119 740x360x540

AC1500BF 134 146 815x370x555

AC1850BF 148 160 815x370x555

AC2200BF 161 173 815x370x555

AC2200BF 158 170 815x370x555

AC1500EF 140 152 815x370x555

AC1850EF 153 165 815x370x555

AC2200EF 167 179 815x370x525

AC2200EFN 167 179 815x370x525

50



